SD-1107 Parts

No. Part No. Description Oty Weight No. Description Oty Weight
S0-1107-01 otep Disc 2 b74g| 16 |SD-1107-46 Sleave B5oxA4b 1 534g
S0-1107-02 M10 Spindle 1 558g| 17 |SD-1107-48 Sleave B5ExA48 1 a53g
SD-1107-03 M12 Spindle 1 o40g| 18 |SD-1107-50 sleeve Be0=@A50 1 a79g
S0-1107-04 M14 Spindle 1 729g| 19 |SD-1107-52 Sleave Bb2x@52 1 B00g
S0-1107-05 M16 Spindle 1 843g| 20 |5D-1107-54 sleeve PDb4=54 1 6190
SD-1107-M10(PARTS)  (M10 Nut 2 173g| 21 |SD-1107-56 Sleeve @66x@56 1 6360
S0-1107-M12(PARTS)  [M12 Nut 2 159g| 22 |SD-1107-58 Sleeve D68x@58 1 6590
SD-1107-M14(PARTS)  (M14 Nut 2 145g| 23 |SD-1107-60 Sleeve @70=B60 1 6790
SD-1107-M16(PARTS)  [M16 Nut 2 132g| 24 |SD-1107-62 Slesve @72xA62 1 700g
SD-1107-34 Sleave @44x<034 1 405g| 25 |SD-1107-64 Sleave @7 4x064 ] 7200
SD-1107-36 Slesve B46x236 1 417g| 26 |SD-1107-66 Slesve @76xA66 1 745q
SD-1107-38 Slesve 48038 1 450¢g| 27 |SD-1107-68 Slesve @78xA68 ] 7660
SD-1107-40 Sleeve B50=x040 1 471¢g| 28 |SD-1107-70 Sleeve @80x@A70 1 7920
SD-1107-42 Sleave @52x42 1 492g| 29 |SD-1107-72 Sleeve @82x@72 1 8060
SD-1107-44 Sleeve @54x144 1 514g| 30 |SD-B-1107-A Empty Blow Mold Case (Red) 1 9260




